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Summative task
Vocational context

Park garden designs

As Head Gardener you have been asked to design a standard compound bed of circular design which can be used throughout the gardens but which will vary in overall size, though not proportion, depending on the space available and the plants being used.

Constraints are that the standard design should have a mixture of gravelled paths and planted beds and it should be possible to walk round each bed. The design must be a pattern of concentric circles such that each ring is the same width. The sides of the beds are formed by straight edges, each of which is part of the radius of the circle. An example is given below.
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Design your standard compound bed. You are not limited to the one shown although yours must fit the description above.  

You will need to produce an accurate scale drawing of your final design.

You will need to give examples of different overall sizes.

Cost is an important aspect of the project. There is a known cost per square metre of gravelled ground and a known cost per square metre of earthed bed (plants are additional).  You will need to give examples of the cost of different overall sizes.

Extend this to give a method of calculating the cost of your design for any overall size of standard compound bed.

As part of the project you include plantings for a standard compound bed where the width of the concentric rings is 2 metres. You plant a mixture of helianthemum plants and santolina plants in the ratio 3:1 in all the earthed beds. Helianthemums require 900 square centimetres of ground and santolina plants require 2100 square centimetres of ground. How many of each plant will you require?

Garden Design


(Gravel in yellow, beds in green)
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